Vypočítaj príklady:

28            63           85           75           57
   -19        -  48        - 38         - 67         - 19


   45             35           58           68            79
   25             48           81           35            58


Zápis:
Sánkovalo sa..........................12 detí
Lyžovalo sa ............................38 detí
Lyžovalo sa .........................o x detí viac


[bookmark: _GoBack]Výpočet rovnice:
38 – 12 = x
                 X = 

Slovná odpoveď:
Lyžovalo sa..............
